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GUESS PAPER-2013
CLASS-XII
SUBJECT- ACCOUNTANCY

Max. Marks: 80






              Max. Time: 3 Hours
Instructions: 

a) This question paper consist of 25 questions

b) All the parts of the question should be at one place.

      c)  All the questions are compulsory. Show workings neatly. 
PART A : Accounting for Partnership Firms and Companies(60 Marks)

Q1. Why is it that the Capital Account of a partner does not show a ‘debit balance’ inspite of    

        losses year after year ? 






                                  (1)
Q2. Give two differences b/w Capital Reserve and Reserve Capital .                                               (1)
Q3. What is the accounting treatment of self generated goodwill as per AS-26 ? 
                     (1)
Q4. Can a Retiring partner or Legal representative of a deceased partner claim a share in the 

       subsequent profits of the firm ? 







        (1)
Q5. Name the source other than free reserves and profits that can be used to buy back shares 

       by a company.Also state one more use of such source.  



        (1)
Q6. State the amount of Debenture Redemption Reserve required to be created as per SEBI if 
       company has issued `10,00,000, 12%   Debentures of which 60% are non convertible.       (1)

Q7. What is meant by preferential allotment of shares ?



                     (1)
Q8. The average profits of a firm is `60,000.The total assets of the firm are `8,50,000 and value 
       of current liabilities is `5,25,000.The industry to which the firm belongs has an average rate  

       of return 12%.Find value of goodwill : 
a) By Capitalisation of average profits
b) At 5 years’ purchase of super profits.                                                                                        (3)  
Q9. Reva Ltd. issued 15% Debentures of `1,00,000(FV `100 each) which were issued as follows :

i) For cash at 95%                                                        `50,000(Nominal)

ii) To supplier of Machinery costing `30,000         `25,000(Nominal)

iii) To Bankers for a loan of `20,000                        `25,000(Nominal)
Journalize.                                                                                                                                   (3)                 

Q10. M Ltd.redeemed its 2,00,000 9%Debentures of `10 each redeemable at a premium of 

         10%,by converting into Equity shares of `10 each, issued at a premium of 25%. 
         Pass journal entries in the books of M Ltd.for the redemption of debentures.                    (3)
Q11. John, Kamal and Nishant are partners in the business of manufacturing of Nino Micra a 
         small economical Indian Car made for Indian people.They shared profits in the ratio of 
         3:2:3. 
         Kamal  wants that he should be given equal share in profits with John and Nishant as 

         though he had invested 10% less capital but he is attending business for 20% more time 

         then other partners.Considering this fact other partners have agreed for the change. 
        The goodwill is valued at `1,20,000 for this purpose.
       You are required to:

        i) Identify the values involved in Business                                                                                     (1)
       ii) Show the adjustment for change in the profit sharing ratio.                                                 (3)
Q12. P, Q, R and S are partners sharing profits in the ratio of 2:3:3:2. S retired from the firm
         and the goodwill is valued at `2,00,000.Their books showed a credit balance of `18,000 in 

         Profit and Loss account. S’s Share of goodwill is to be adjusted into the capital Accounts of 
         P, Q and R who decide to share future profits in the ratio of 4:3:3. Pass necessary journal 
         entries.                                                                                                                                                (4) 

Q13.a)Philips India Ltd. forfeited 2000 shares of `10 each, issued at a discount of 10 %. The 
             company had called up only only `8 per share.Afterwards, the company made a final   

              call of `2 per per share but the holder of 2,000 shares stated above failed to pay the call  

             money and amount due from him on allotment @ `3per share.These shares were 
             forfeited and later on reissued at `12 per share as fully paid up. Pass journal entries for 
             the forfeiture and reissue of these shares.                                       
         b)Which value has been affected by forfeiting above mentioned 2,000 shares

             just after the final call. Suggest a better alternative.

                                          (3+1)
Q14. Rebok Ltd. issued 10,000 equity shares of `10 each at a premium of `2 per share, payable 
         `8 on application & Allotment(including premium) and the balance by two equal calls.  

        The due date of the instalments are:

                Application & Allotment on 1st May, 2012

                First Call on 1st September, 2012

                Final Call on 1stJanuary, 2013
        All the money payable on application and allotment was duly received but when the first      

        call was made X holding 600 shares paid for both the calls while Y holding 400 shares failed 
        to clear his dues which he cleared at Final call.The company pays and receives interest on 

        calls as per Table-A.               
        Pass necessary journal entries at the time of first and final call.                                           (4)
Q15. R , S and M were partners sharing profits and losses in the ratio of 5:3:2. On 31st March,

          2012 their Balance sheet stood as follows.

	Liabilities
	Amount (`)
	Assets
	Amount (`)

	Creditors
	4,000
	Goodwill
	3,600

	General Reserve
	9,000
	Plant & Machinery
	14,000

	Capital Accounts:
	 
	Stock
	4,000

	R
	10,000
	Sundry Debtors
	6,000

	S
	9,000
	Cash at Bank
	11,400

	M
	7,000
	 
	 

	 
	39,000
	 
	39,000


          S died on 12th June, 2012. According to partnership deed, executor of a deceased partner 
          was entitled to:

          a) Balance of Partner’s Capital A/c and his share in accumulated reserves.

          b) Interest on capital @ 5% p.a.

          c) Share of Goodwill calculated on the basis of twice the average profits of 

              past three completed years. 

         d) Share of profit from the closure of the last accounting year till the date of 

             death on the basis of average profit of the three completed years before 

             death.

        Profits for the three years 2010, 2011 and 2012 were `9,600; `12,800 and               

        `10,000 respectively. `5,000 was to be paid to S’s executors and balance due to him was to 

        be transferred to his executors loan account carrying 12% interest p.a.

        Prepare S’s Capital A/c and S’s Executors A/c after above adjustments on the death of S. (6)
Q16. R ,O and W have omitted interest on Capitals for two years ended 31.3.11 and 31.3.12.

          Their fixed capitals in two years were R  `1,00,000 , O  `80,000 and W  `60,000.

          Interest rate (2011) 10%p.a. and 12%p.a.(2012).Their profit sharing ratio for two years :

                                2011                        4:3:2

                                2012                        3:2:1 
          Pass necessary adjusting entry.                                                                                                    (6) 
Q17. A and B were partners sharing profits in the ratio 3:2. Their Balance sheet as on 31.3.2012  

          is as follows:

	Liablities
	Amount (`)
	Assets
	Amount (`)

	 General Reserve
	                          20,000
	Land and Buildings
	60,000

	O/S Expenses
	2,000
	Machinery
	40,000

	Creditors
	40,000
	Furniture
	10,000

	Capitals:
	 
	Debtors
	25,000

	A
	60,000
	Cash
	17,000

	B
	40,000
	Profit and Loss A/c(Dr.)
	10,000

	 
	1,62,000
	 
	1,62,000


       C is admitted to the partnership for 1/6th share in the profits on the following terms:

         a) The new profit sharing ratio was decided as 3:2:1.

         b) C is to bring `10,000 for his share of Goodwill and necessary amount of capital 

             in proportion to his profit share.
         c) A provision of 5% for bad and doubtful debts is to be maintained.

         d) Buildings are to be appreciated to `80,000
         e) Furniture is to be completely written off from the books.

         f) An amount of `1000 is to be provided for o/s repairs .

     Prepare Revaluation A/c, Partners’ Capital A/c and Balance Sheet of the reconstituted firm.  
Or
    L and M were partners in a firm sharing profits and losses in the ratio 3:2. On 31st March,       

    2012  their Balance Sheet stood as follows:     

	Liabilities
	Amount (`)
	Assets
	   Amount (`)

	 Creditors
	               5,000
	Cash
	9,000

	Bank Overdraft
	30,000
	Stock
	7,200

	Contingency  Reserve
	16,000
	Book Debts
	10,000

	Capital Accounts:
	 
	Goodwill
	31,300

	L
	15,000
	Office Equipment
	11,800

	M
	15,000
	Building
	11,700

	 
	81,000
	 
	81,000


        On the above date the firm was dissolved. L took over Stock at 10% less and M took over  

        Ceditors at 10% more. Office Equipment and `10,000 were accepted by the Bankers in   

        settlement of their dues. `3,000 could not be recovered from the debtors. 

        Building realized at `50,000. Expenses of realization 10% of assets realized were paid by M. 

        Prepare Realization Account, Capital Accounts and Cash Account.                                         (8)
Q18. Sky Ltd. invited applications for issuing 80,000 equity shares of `100 each at a premium of 
         50%. The amount was payable as follows:

                 On Application:                          `50 per share

                 On Allotment:                             `80 per share(including premium)
                 On first and final call:               `20 per share

       Applications for 1,40,000 shares were received. Allotment was made on pro- rata basis to 
       applicants of 1,20,000 shares and remaining applications were rejected.The Company  

       received all amount due except allotment and call on 4,000 shares held by Ravi . His shares 
       were forfeited after the final call . 3,000 of the forfeited shares were reissued to Keshav at    

       `90 per share  as fully paid up.
       Pass the necessary journal entries in the books of the company and prepare share forfeited  

       account.
Or
       Niranjan Co. Ltd. has an authorized capital of `5,00,000 divided into 50,000 equity shares 
       of `10 each. It issued 20,000 shares at 10% discount to the public, payable as follows:

                   ` 3 on application 
                   `4 on allotment

                   Balance on first and final call.
       All the shares were applied and allotted.
       All the share money was received in full with the exception of the allotment on 500 shares 
       .These shares were duly forfeited and 400 of these shares were reissued at `5 per share as 
       `8 paid up. 

       Make the necessary journal entries and prepare Balance Sheet of the Company.                 (8)
PART B : Analysis of Financial Statement (20 Marks)

Q19. State the significance of ‘horizontal analysis’.



                                  (1)

Q20. Why decrease in inventory is added to operating profit while ascertaining ‘cash flow 

          from operating activities’ .                                                                                                            (1)
Q21. Give any two examples of cash inflow from operating activities.          

        (1)
Q22. List the items which are shown under the heading ‘Non Current Liabilities as per 

         Revised schedule VI part-I of the Companies Act 1956. 


                     (3)
Q23. With the help of the following information obtained from the books of Raj Silk Mills,      

          Prepare a common size income statement for the year ended 31.3.2011 and 31.3.2012:

	Particulars
	31.3.2011
	31.3.2012

	Revenue from operations
	                      `20,00,000
	                       ` 30,00,000

	Cost of material consumed
	                     `10,00,000
	                        `12,00,000

	Operating Expenses
	10% of cost of goods sold
	10% of cost of goods sold

	Wages 
	20% of cost of materials consumed
	25% of cost of materials consumed

	Dividend Received
	`20,000
	`30,000

	Tax 
	50%
	50%


        (4)

Q24. On the basis of the following information, calculate:

         a) Return on Investment  Ratio

         b) Debt Equity Ratio
             Cash Sales `40,00,000 ; Credit Sales `20,00,000 ; Cost of Goods Sold `30,00,000 ; 

             Operating & Non operating expenses(excluding interest) `6,00,000 ; 
             Paid up share capital `25,00,000;  6% Debentures `20,00,000; Reserves and Surplus                            
             `15,00,000  ; Tax paid `9,60,000.       




                                  (4)
Q25. From the following Balance sheets of Shivon Ltd. as on 31.3.2011 and 31.3.2012, 
          prepare Cash Flow Statement for the year ended on 31.3.2012:

	Particulars
	31.3.2011 (`)
	31.3.2012 (`) 

	 
	 
	 

	I. EQUITY AND LIABILITIES
	 
	 

	Equity Share Capital
	1,00,000
	1,50,000

	Statement of Profit and Loss 
	25,000
	50,000

	Less :Discount on Shares
	----------
	(1,000)

	Bank Loan
	50,000
	25,000

	Creditors
	15,000
	12,250

	Cash Credit
	20,000
	15,000

	Provision for Tax
	10,000
	17,500

	TOTAL
	2,20,000
	2,68,750

	 
	 
	 

	II. ASSETS
	 
	 

	Goodwill
	12,500
	11,000

	Machinery
	1,50,000
	1,50,000

	Investment
	                 ----------
	20,000

	Trade Receivables
	50,000
	62,750

	Inventory
	2,500
	3,750

	Cash
	5,000
	21,250

	TOTAL
	2,20,000
	2,68,750


         Additional Information:
i)  During the year a part of Machinery costing `60,000 ( accumulated depreciation

     thereon  `20,000) was sold for `30,000. 
ii)  Interest paid on Bank Loan `3,500 whereas Interest received on Investment `800.
iii)  Depreciation charged on Machinery during the year 2011-2012 `18,000 .                   (6)
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